Year6 Week 12 Day1

| MMXIL

There are 6 sweets in 5 of a bag.

How many sweets are there in a full bag?

|
3) 25—

026 + 106
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There are 6 sweets in 5 of a bag.

How many sweets are there in a full bag? |2
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Year6 Week 12 Day 2

What are the coordinates of 2, A CCCLVI
X

point A?

0O 1 2 3 4 5°

5@ cake is shared between Y children.

What fraction of the cake do they each get?

3
qX"|

4,032 X 36




Year6 Week 12 Day 2

S il A -
What are the coordinates of 2, A C C C LVI
X

point A? (5. 4)

0O 1 2 3 4 5°

— a cake is shared between Y children.

2
What fraction of the cake do they each get?

4,032 X 36 145,152




What are the coordinates
of point A?




What are the coordinates
of point A?

(—3,2)

7,501 =+ 3 2,500 rl




Year6 Week 12 Day4

Describe the translation

from A to B.

q

Work out 0 of 230 g.

Express yasa percentage and as a decimal
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Describe the translation
from A to B. Ay
H squares to the right _s====

y
5
y
3
2

and O squares down

q

Work out 0 of 200g. 225¢g

Express yasa percentage and as a decimal 050/ 0.




Week 12 Day5

A is translated 2 squares up and

O squares to the right.

What are the new coordinates?

Write the fractions in ascending order:

| 3 3

4y 7 18

Adjacent angles on a straight line sum to




Week 12 Day5

A is translated 2 squares up and
O squares to the right.

What are the new coordinates?

(I, —2)

79

Write the fractions in ascending order:

| 3 3 3 | 3

4 7 8 B 4 7

Adjacent angles on a straight line sum to _ 180°




